G-force lightning assembly guide

Bag 1

6 M2 x 3 Taper

. Amm. hex nut




G-force lightning assembly guide

Bag 1 completed

Bag 2

M 1.6 x 2 mm, (0.7 hex)

Upper arm

Wheel axle

10mm, upper arm pivot /
Shock up o

8mm. lower arm pivot

Lower arm



G-force lightning assembly guide

& M2 x4 Taper

Bag 3

4mm. hex nut

3x6x2.5 Bearing

M2 x 16 Taper

= M2 x 4 Taper



G-force lightning assembly guide

M2 x 6 round

M2 x 4 Taper

Streering link

Bag 3 completed




G-force lightning assembly guide

Bag 4

2 M2 x 6 Round

©) 0.3 8him

M2 x 4 Round

L‘ M2 x 4 Taper

Bag 4 completed




G-force lightning assembly guide

Bag 5

M2 x 4 Taper '

M2 x 4 Round @
M2 x 4 Round @

& M2 x}4 Round
& M2 x 4 Round

M2 x 4 Round L

& M2 x 4 Round



G-force lightning assembly guide

Bag © completed

Completed



